00000 (0000 000)00000 o000 0D 0D (D000 D00O0)
No.O (DODOOOOOODODO)OO

000000000000000000000000//3M >0,a<z<buveR=|f(z,u)—f(z,v)] < Mu—l
(0000000)00000000000000000000//00000000000000000000000

0000000000000 o0o00o0000o0Uo0D (Oo00DoO0oUo0O0)0U0LO0DDO0O0OO0OUO0OUDOO
00o0000o0o0o0ooo0ooo0oo0o0oUUo0 (DO0)0D00L000D000D00ULO0O0DODDODOoDODOOWOOO
00000000000 0000000O00000000O000U000O000U00O0O0O0O000ODO (Coooooo
0000)0000000000000000000000000U0O0000DO0O0O0UDOOOUOODDOOOOOn
goooboobooboooboooboboobbobooboooboobuooboobobobobboobbooon
gooobooboobooboboobooboobooboobobooboo

gboobodbtd«. 0000000000 boobobooooboboobobobobooboboooobon
gbooooobooooobooboobooboooonbo

obobooooboooooooboooobooboooboOooooooobOoobooobOOooooobooobooooDn
oboDooooooboobooboooobooboboooooboooooooooobooobooooooooboooon
ooooooooooobooooboooboooo

goooboobooboboobooboobooboobooo

0000000000000 00000000U0z—w 0000000000000 (CDO)0D00O0UOOOOOOO
oboooooboooooboobooooboboooboboooooobooooooboOoonoo

oboboooboobooooooooooboooboooooobooobooooobbooboobooooooobboono
ooo0o0oooo0oo0oo0ooOoOoUO0U0oOUO0// 0000000000 ’0000”’00000O0ODOUOOO0OOD
gooobooooooobooobooboboobooooboobooboboobobobobooboobon
goooooo0o0ooo0oUooooogoooooOor’ogo’oooo0obOoOoo0gooDooOoooooooo

oo”0oooo0goorcoooooooo0oooooooo0ooooOobo0o0oooooobooboooOoOoooo
obobooboooobooooobooooooooboobooboooooboooobooooboboobooboooon
gooboobobooobbooboooboooobooooooooboooooOoooooooobDoobDOoooobobooboOoo

00000000000o0o0o0o0oo0o0oooo0o0oUoUoOUOLUO0oo0// 00000000000
00oo0ooo0//00000000o00o0o0ooooO0oOO0UoO0DoOO0oUOO0OO// 000000000 OO0UD
00000000o00oo0o0o0o0o0ooo0oU0ooO0// 0000000000000 000DO00oUoOOooooUOon
00o0oooo0o0//o000000o000000O0o0U0ooO00// 000000000 0O00D0DUOooDOOOO0ooOn

d? d
00o0o0o00oo0o0oo0oooooU0//o0D00o0oooo Eg—l-pd—q;—l—qu:ODDDDDDDDDDDDD
0000000000000000000dp=0,¢q=—-w?0000000000000000000O0O0O0OOOO0
000o0//000000000o0oo0o0oo0o0oooUo0Do0oUoO0DoOOoULOoDLOOoULDOoDoOUoO// o

ooo0ooo0o0oooU0o0ooo0//0000000000U0O0DO0O0UO0O0OUO// 0000000 O0O0D
gbooooooboobgo

0000000000000 O00000000O0UO0O0 (D0)0D000 (DU0O)oOo0o0DUOODUoOOUOOOoOoOo
oboooboooobooooobooooboooboobooooboobbooooobooooooboooooobooooooon
goooboboobooboobobooboobooboooooboobooboobobbobooboobon
gooooobobobobooooooobobuoboobooboobobobobooboobobobobbobobon
(00000000000000000 e?=cosf+4sind 000000000000000000000000ON)

000oo0000oO0o00o0oo0o0ooO0O00oO0o0O0U0OO0UC0O//oDoO0OU000o0O0OUC0oDOODUDOoOOOooOo
obooooooooooboooooon

oboooboboooooboooooboooooboooooon %:auDDDDDDDDDDDDDDDDDD
T
oooooobooooooboobo

00o000o0o00oo0o0o0o0o0oUoUO0D0o0OUOU0D0D0LO0O0O0DO0DOo0DO00oooooon// 00
00’00”’0’00’000000000000O00O00O00O00O0O00ODOOOO0DO0DOO0OUOUOOUOOOoOOoOOgy)//
U0 =000000000000000

obooobooooooooboooooooo0ooboooooooooooooooooooooooooooooon
oboboobobooobooooobooooooboooooooooooobooooooboooooooooooboooon
00000000000 (o00o000Uo00)00000000000D00000D00DDO0O00DDOULO0O0O0O0O
gooooooooboobobooooooooobooooooboobooooooobDobooDobboooboooboOoo
oboooboboooobooooboooobooooobOoobooboooooboOoooooboooooobooobooooon
oboooOooooobOoboooobooooboooooobooonoag

0000000000000 u(0)=c¢u'(0)=d(d#40)0000000000000000O0OO0O0O0O0 cos,sin O
oooooooooooboo

0000000000000 000 w(0)=0,4/(0)=d000000 sin000000OO
gboob ebdbb0O0O0DebO0ODbOOOO0DODOODODODOOOODOODODOODODOODODOO



0000//e¥ =cosy+isiny 000000000cosy 0000000siny 0000000000000DO0O0OO0O
oooooooo

goooobooobooooboo (DD)DDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDD
000000000000 0000000000000e*=)",_ oy 0000 (:0000)00000000000

O00e" =cost+isint 00000 0cos O sinl]DDDDDDDDDDDDDDDDDDDDDDDDDDDDDD
gooobgooobod

ocooooodf:R—-RO00O00DOO00O0DOOO0OO0f:R—CODOO0OO0ODOOOODOOODOOOOOO
ooooooooooof:C—CcOO00ooooooobooooooDoon

00000000000000000000 (complexification) 000000000000 w(z) = u(z) +iv(z) 00

d"w dT dv
goog 1: gogoobooboooobooboobobooboobobooboobooooo

"
|:||:||:||:||:||:|I:lI:l|:||:||:||:||:||:||:||:||:||:||:||:|I:l|:||:||:||:||:||:|I:lI:lDDDDDDDDDDDDDDDDDDDDDDDD
0000000000000 00000O00U0O00O0O00O0000D00000UDO00O00D0UOO0ODO (ooOOoOo
o00)oooooo
d2

DDWZ:waUDDDDDDDDDDDDDDDDDDu(t):(cl+02)coswt+i(clfCQ)Sinwt (c1,c0 € C: O
000)0000000000000 wu(t) =acoswt+bsinwt (a,be R: 0000)000000O00O0OO0ODOOOO
c,co 0O O00O00O0O0OOODOOOOO0O

00000000000000000000000000 ¢, 00000460 i(aa—c)000000000
0000000000000000000¢ =h+ikec=0+imO00000ci+c=(h+0+i(k+m)00000
O0k4+m=0000000 i(c; —ca) =i{(h—€) +i(k—m)} = —(k—m)+i(h—¢) 000D0000h—¢=0000
0000¢=h000 m=—-k00000c=~(+im=h—ik=cr(0000)000

oooboooooobooobooobobOobonoooboooboooboooooooooooooooboooboooobooon
ooooo

d
gobooobogobboobooobooboooboooobo d—u:u2—3uDDDDDDDDDDDDDDDD

T
gboooboooboobooboboboobboboobooboon po 6000

0000o0o00o0o0oo0oo0oo//00000000000000000000D0O000UD0O0ODOUDLOOO0O0O0OO0
oooooobobooo

0000000000000 mapping 000000000 OCOO0OOOOOCOODOOOODOOODOOOCOOODOO
imageD OO0 inverse image 00000000000 OCOO0OOOO0ODOOOOOOODOOODOOOOOOOOOOO”
ooooooor’oorooooooog

0000000u(t) = (ui(t),us(t),us(t)) 000D0DDOOOOOOOOO

oboboooobooobOooobooooboobooooobooooobooooOooooOoOoboboobooooboboOoDn
oboooooooooobooooboobooooooo

obbooooooooboooboooooboooboOoooooboobooobOobooOobboooobooOooooboOooDbn
gooooobooooobobbooooboboooboboooo

gbooboodbgoobobobooboboobboboooboboobobooooboobobooboboon
googboooboooboooobon

00000000 (000000000000 oO0)000U00000DU0oO0OUOOOODUOOOUOOoOo
oboooboooooobooooboboooobooboo

00o0oo0o0oo00ooUo0oUoo0oo0UoO// 000000000000 00000D0O0O00UO0OUOO
goooboooobooood

gobooboooobooboobooboboooobooobooboobooboobobboboobobobobon
obooooobooooobooboooooo

gboocoboboooooboboboooobooooboboobooobooooooOoooo
oboooboooooobooooono

goobooboboobobobooboboooooboobooobobooboboobobbobobon
gboogoboooboooboobooboobooboboobooboobobooboboboobooboobon
obobooOobooooboooobooooboooobooobooboboooobOOobooooboobooboOoboooon
obooooooooooboooobooon

000000000000 00U00000000000000000OU000LO0O0U0DO00U (Doo)oUooo
goooooooooobobboooobooboobobooooobooo

goooboobooboobuooboobuobobooboobo
gboogoboobooboboobooboobobobobooboobooboobobbobboboooboo



